
SAP ABAP table J_1AINFSKS {Inflation Keys - G/L Account}

J_1AINFSKS

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

J_1AIFSKS [CHAR (8)]

J_1AINDXSP [CHAR (5)]

J_1ATBEDEP [CHAR (2)]

J_1AINFT04

MANDT [CLNT (3)]

J_1ATBEDEP [CHAR (2)]
 J_1AINFSKS-J_1ATBEDEP = J_1AINFT04-J_1ATBEDEP 

0..N

1

J_1AINFT20

MANDT [CLNT (3)]

J_1AINDX [CHAR (5)]

 J_1AINFSKS-J_1AINDXSP = J_1AINFT20-J_1AINDX 
0..N

1

T000

MANDT [CLNT (3)]

 J_1AINFSKS-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 J_1AINFSKS-LAND1 = T005-LAND1 

0..N

1


